Puissances de Dix (G)

Trouvez chaque produit ou quotient.

6,266 X 100 = 2,84 +10=
1,2199 - 0,1 = 4,947 - 100 =
8,03 X 0,001 = 4,58 x 0,001 =
6,2+1000= 2,14 x 1000 =
6,1 =~ 0,001 = 2,8057 -1 =
6,49 X 0,1 = 7,5+0,01 =
7,35 +1000 = 4,8+0,01=
9,6486 - 100 = 1,8 x10 =
3,5x10= 3,39 x0,1 =
6,0075 x 1 000 = 5,4031 X 100 =
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Puissances de Dix (G) Solutions

Trouvez chaque produit ou quotient.

6,266 X 100 = 626,6

1,2199 +- 0,1 = 12,199

8,03 x 0,001 =0,00803

6,2 +1000=0,0062

6,1+ 0,001 =6100

6,49 x 0,1 = 0,649

7,35 +1000=0,00735

9,6486 - 100 = 0,096486

3,5%x10=35

6,0075 x 1000 =6 007,5

2,84 +10=0,284

4,947 =100 = 0,04947

4,58 x 0,001 = 0,00458

2,14 x1000=2140

2,8057 -1 = 12,8057

7,5+ 0,01 =750

4,8 = 0,01 =480

1,8 x10=18

3,39 x0,1=0,339

5,4031 X 100 = 540,31
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